What Keynes Had To Say
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In the 1932, America was in the depths of a depression.  A quarter of the entire workforce was unemployed, and income has been cut in half.  Banks and businesses were closing left and right.  What was happening according to Keynes was that people had lost their jobs, so they stopped spending.  People stopped spending so stores stopped ordering.  Factories had no orders so they shut down, and more people lost their jobs.  It was a vicious spiral of events but something had to change to get us out of this big slump.


After the Hoover administration tried many different things, all of them making things worse, he raised taxes to keep the budget balanced.  Then after he saw what he had done, he did the exact opposite of what he had just done and put $2 billion back into the economy and came up with the RFC.  This way, financial institutions had a place to go for when they needed capital.  However, this bold step didn’t work.  The reason was because it was too little, too late and because there was no demand for goods and services from stores or other firms so they failed anyway.  Just by opening a store back up doesn’t mean that people will be able to shop there again.  They still had no money to shop with.


By 1932, millions of Americans were broke, hungry, and homeless.  Millions more watched their lifesavings disappear because banks were failing like dominoes.  In 1929, Americans had saved almost $4 billion but in 1932, almost all savings had dried up, and with no money in the bank, there was no money for investors to start up new stores, and as the Reconstruction Finance Corporation showed, businessmen couldn’t afford to invest money to produce goods and services that no one could buy because there just wasn’t enough money to go around.


Keynes economics theory basically consumption demand was determined by a person’s income.  The higher the income of an individual, the more money he/she was going to spend.  If a company was shut down, then those people employed there would lose their salaries and be forced to save their spending money.  In turn, the people that they gave their money to in exchange for goods and services would take a cut in sales, so they would have to cut their spending also.  This theory had become reality during the 1930s and if Roosevelt didn’t act soon, this spiral of depression was going to continue to spiral downward further and further.


After Roosevelt was elected as President, his take on things was that they would experiment since the things performed earlier hadn’t worked.  The things he and his administration experimented with, if they didn’t work then they would try something else.  It was so bad that if things went wrong, how wrong could they go?  Things couldn’t get much worse at this point.  March 1933 was the bottom of the depression.  Slowly but surely, the economy inched upwards.  After his administration developed many different organizations that gave more and more people jobs, the economy was starting to recover.  By 1936, Roosevelt thought it was time to return to a balanced budget.  What seemed to have happened was that Roosevelt had underestimated the effects his choices would have on the economy.  After he cut back spending, the stock market took another dive, and it was clearly still unstable.  Suddenly it looked as though the progress from the last four years would unravel and things would go back to the way they were in 1933.


Roosevelt was a man of common sense.  He couldn’t agree with this new theory of reducing taxes and increasing government spending.  So as if not to totally give in to this new theory, he increased government spending a little and the economy improved a little.  With America limping into the 1940s, the rest of the world seemed to going downhill.  The allies needed our help to continue in the war and they came to America for the help.  Keynes didn’t think that our economy was ready for such a great demand, but we had done it for WWI and the Roosevelt administration was determined that we were going to do it again.  The Great Depression had finally ended because of the vast production of wartime economy.  Government spending that topped $15 billion in 1936 soared to more than $100 billion during the war.  


What was said that if private spending couldn’t recover itself from a depression of recession, then the government needed to step in and do something to fill in the gap of the income column.  The man that helped us understand what had happened during the Great Depression was Mr. Keynes, and he, with his theory that government spending would bring a society out of a depression, was right on the money. 
